
Exercice 1 
 
Quelle main de Sud correspond à la séquence suivante ?  
 

Sud Ouest Nord Est 
1     –   1   – 
2 

 
Main a 

 9852 
 ARD765 
 R5 
 5 

Main b 

 R76 
 RDV109 
 9875 
 A 

Main c 

 AR4 
 D98752 
 432 
 R 

Main d 

 R43 
 ADV985 
 AV2 
 9 

 
 
 
 
 
 
 
Exercice 2 
 
Quelle main de Sud correspond à la séquence suivante ?  
 

Sud   Ouest  Nord  Est 
1       –     1      – 
2 

 
Main a 

 – 
 R943 
 AV54 
 ARD54 

Main b 

 R7 
 8 
 ARD54 
 ADV42 

Main c 

 R54 
 4 
 AV54 
 ARD54 

Main d 

 8 
 V92 
 AR54 
 AD543 

 


